c o1
PO¥T1--90L

Limits of Railing, TS-1

‘Limits of Guardrail

Transition, TGS-1

(.

Thrie-beam bridge railing
at max. 6'-3" spacing.

Length as shown on plans.

PLAN VIEW

ELEVATION

min. el
_g"

Cast-in—place
2 - 3" sleeve nuts

(120 ksi tensile strength)

(OPTIONAL)
Base plate

B T F
3 I ! |
N I ! |
!
o~ | 77* W
| ! —_ (i
| 1 Hole / il
| I 2/5" # \“
| ! each face. | \“ D
I ! I
I : _ w ®
L | | 1 Hole i
> | 7/8" 8~ |
w | | each face. | \‘LS?
T — - i
S I |
= \ I 7 bl
© - = 1 Hole > 't

Thrie beam
bridge railing

GENERAL NOTES

(@ optional 3/4" 8 x 8 1/2" long rod, threaded | 1/2" min. on

/3" Hex bolt with he
nut (1 ea) & 1 3/4" x|
13/4" x 1/5" sq.
washer with 2/5" @
hole in center

(1 each)

each end, with a heavy hex nut securing the post.

@ See Standard Drawing Guardrail Sheet G-2 for thrie beam
guardrail components.

@ Post length may vary. If the 1" # anchor blots in the
deck must be lowered to accommodate the deck reinforcing

Post —_| y
Bearing plate I
4/5" § hex
bolt (1 ea) @ lpl

il

steel, the steel base plate shall be lowered and the post
length increased.

1" anchor bolts
with hex nuts (2 ea.)
with 2-10 1/4" embedment
and 180° bend with
4" extension or 90° bend
with 1'-0" extension.
2/5" hex bolt
(1 ea)

THRIE-BEAM BRIDGE RAILING
ASSEMBLY DETAILS

TS 6" x 3" x 1/4"
x 3-5" post |

" L
Ealc/h2 faﬂc(L A
SECTION REAR VIEW

BRIDGE STEEL POST DETAIL

Base plate

1/2" B — !

7/8" § thru

BEARING PLATE

Drill & tap
3/4" - 2/5"
UNC thru

3/4" B —
1" 9 thru —

/4"

Drill & tap
2/5" - 1/2"

T

I
31/2" ;3 12

o

N ! !
UNC thru F l\q,!i,qf,i‘,,
e R L8 7
P V2% s
BASE PLATE

66—8—-11 V

RAILING, TS-1
(English)




¢ Jo g
PO¥1-4-90L

NOTES:
‘ 18-9 Pay Limits of Guardrail Transition, TGS-1 ‘

‘ (typ. all 4 corners)
Bridge Steel Post Detail.

T [ ( I I I I . Thrie-beam rail that attaches to post-G2

T n  — n  — T  m— does not have a post block.

See Detail Drawing DET E706—BRSM-01 for

—

—
—
IS

‘ ‘ ‘ ‘ ‘ 3. W-beam rail that attaches to post-SGRO2
does not have a post block.
4.See Standard Drawing Guardrail Sheet G-2 for
. . thrie-beam guardrail components.
Bridge joint 5. See Standard Drawing Guardrail Sheet G-1 for
@ W-beam guardrail components.
e .
rFrunt face of railing
I I I I
K ! ! !
k i i ,
! . ‘ B _ 5/8" x 1 1/2" std. button head bolt
‘ ‘ I <,/ with rectangular plate washer, round
1-0 . ‘ < washer, and recess nut at each post.
|
2 . 3-11/2 = 6-3 2 spa. 3-11/2 = 6-3 =)
spa. @ / -+ 2. ° / J\ 1 spa. e 6'-3 i 3 <
Side-mounted Thrie—beam guardrail ' W-thrie beam transi- _i_ W-beam guardrail ‘ W-Beam guardrail L— s 3 x 1/3" x 5-3" post
thrie-beam section T tion section section ]
railing on I
bridge PLAN VIEW )
_— ,— 8" x 2-0" x 1/4" soil plate
Two-5/8" x 2" std. button head (One-5/8" x 1 1/5" std. U
. button head bolt
bolts, with rectangular plate Twelve-5/8" x 2" std. button with rectangular POST - G2
washers, round washers, and head bolts with round washers 8 e —
plate washer, round No Scale

recess nuts through rail and recess nuts at 2 posts

. washer, and recess
sections at each post

Two-5/8" x 2" std. button head bolts nut at each post.

with rectangular plate washers, round

washers, and recess nuts at each post Eight-5/8 x_l 1/5" std. button _ _ 5/8" x 1 1/2" std. button head bolt
head bolts with round ﬁ :
< with rectangular plate washer, round
|washers and recess nuts Y]
\—l ( ‘ [ l < washer, and recess nut at each post.
| 0
h o — o l_x\_H \ &
j T . . _qn
i [ i i ‘ i L—s 3" x 1/3" x 5-3" post
4 i & s
N -
@ - )
3 g ,— 8" x 2-0" x 1/4" soil plate
@ &y ,—edge of paved
[A shoulder
]
BRIDGE 5 8 i . § -
8 8 if 3 g = 2 8 POST - SGRO2
] S Qi 1] —— 7
! 1 | ] @ | No Scale
“ - 1 1 2
8 2 ] - - 8
A 8 <] @ 2 2
. Al g 8 )
ELEVATION

GUARDRAIL TRANSITION, TGS—1
(English)

66—8-11T V




